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101|R#A7 L 642 343 299| Kg |EE 1,080 54|EfE 1,944 216
102|357 L 1,412 1412 Kg BIE 1,593 555
111|&EEF £ 111 5 106| Kg |EE 486 108|®40 1,944 648
113|RAV S 26 18 8| Keg |EE 1,188 864|%/Il 1,620 648
114|B5EFE 124 5 119| Kg |ERES 1,404 BERE - 8E 2,970 324
15[ 1= 4 1 3| Keg |EE 1,080 R 3,024 1,944
117[1E 312 56 256| Kg |EE 1,620 22| K 3,780 432
121|rblE &€ 25 13 12| Kg |EE 540 160| & 1,296 540
134[#= = 380 100 280| Kg |EE 2,800 1,300|& 1| 3,024 1,620
137|&5E.3. < 39 29 10| Kg |BE 324 216| K% 3,996 3,888
140(5 I 24 24| Kg e[AEs 43,200 27,000
147|EZ O 58 58| Kg il 15,120 7,000
158|&FEN A IEH 244 244 Kg R 2,484 1,620
201{Lvb L 684 684| Kg BE - A/l 486 126
203|/hd L 114 114| Kg KBR 432 324
205|3.3 L 190 190 Kg L 554 324
206| = 1F 376 1 375 Kg |&)I 162 A 756 324
208| Mo % 359 359 Kg T 1,728 525
210|1F ALy 448 404 44| Kg |Ei& 3,780 1,026| £ 2,430
212| %585 1) 242 242|  Kg S - BIE 2,884 1,450
222|002 16 16| Kg =40 720
251|< £ <3 171 171 Kg |Fz= 3,240
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254|ED12ELCA 577 577 Kg FIE 2,052 1,166
3031 A 7Ly 15 151 Kg i 648 504
306|Le &Y 9 9] Kg . 1,368 1,296
315|7: b5 6 7 7 Kg = I 4,104

3191 h o 1,487 16 14711 Kg | KR 810 ZFN1 - AL 1,080 648
332|115 WA EF 120 120] Kg i 2,160 1,728
3BlHHY 15 5 10 Kg |[®E 3,240 FEE 4,860

3541 <Y 8 8] Kg [ 1,404

3/5|HEY) 130 10 120 Kg [diEE 1,080 timE - P E 1,404 600
356|L LA 25 25| Kg SER 1,350 864
3577/~ E 1 1 Kg e 10,800 10,260
362| & 63 63 Kg FJE 3,024 612
401|H W 28 28 Kg Iz & 2,052 1,728
4025 5 &E 25 25| Kg A0 5,616 3,672
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512| A& AL 20 20| Kg b 1,500
523| A EARAT 2 O 616 616| Kg =] 5,724 528
54| ARE & 2V 7 71 Ke =] 1,342
Bh4| X IE BWA AR 10 10| Kg b 1,050
558| 39 39| Kg b 1,296 972
560|487 2 180 180 Kg JbimE - B 2,650 1,800
566|4R A < 10 10| Kg e 3,780
5764 X 1F 40 40| Kg =] 2,808 1,836
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70110 BA 159 159 Kg gl 2,484 864
704\ LETF 72 72| Kg F) 2,154
710(2 2 AT 150 1501 Kg BRS 2,106
755(Fd L 19 19 Kg E=AES 1,274 1,044
56| £ 9 8 8] Kg SR 1,188
7611 b BHAEL 29 291 Kg EE 3,115 2,340
76713725 W\ H 65 65 Kg = 5,850 2,340
B01[IBAL = 1S 58 58] Kg ¥ -mA 1,620 1,188
802|1 x| 58 58| Kg gl 1,836 1,404
8051 1E 128 128 Kg JbiF 1,274 745
810|FAKF 204 2041 Kg bF 4,104 1,652
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